Opérations avec deux fractions (G)

Nom:

10.

Note:

Date:

Calculez chaque résultat.
1+11 + = 11§‘E—
8 16 N "8 13
2 2 o 2l
373 1573
1+1 + = 13%'2—
2 16 N 3°8
3 1 B 141.1_
8 4 N 572
4 1 _ _ s 3.1 _
5 5 - 4 2
1+1 + = 16 6><2—
2 5 -~ 775
1><1 174 3
9 2 5 4
o 1 o L3
19 3 275
1+1 + = 197 L.
33 N 8 2
2+2 + = 202-1—
39 N 11 "5
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Opérations avec deux fractions (G) Réponses

Nom:

Date: Note:

Calculez chaque résultat.
1, un_2 1 _13 SIS S IO =
8 16 16 16 16 8 13 8711
2><2— 4 124)(1_ 4
373 9 1573 45
1,1 _8 1 _9 L 2.7 2.8
2 16 16 16 16 3°'8 377
31 3 2 1 141.1_1Xg_
8 4 8 8 8 572 571
4_ 1 _ 4.1 _ 3 3.1 _ 3 2 _
5 5 5 5 5 4 2 4 4
1.1 _ 5,2 _ 7 L 6.2 _ o
2 5 10 10 10 775 35
lxl_ 1 174 316 15 _
972 18 5 4 20 20
6 1_ 16 e 123 2 1.3 _
193 57 25 273
1.1 _ 1.1 _ 2 LTl 74
3 '3 3 3 3 8 2 8 8
39 9 9 9 11 5 1171
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